Code snippet.

SPIM 2 ClearTxBuffer():

SPIM 2 ClearRxBuffer();

CyDelayUs (1lu):

SEIM 2 TxEnable(}; // also do this in ldriver routine
CyDelayUs (1lu):

ldriver (0x020k, 0x0500);
ldriver (0x022k, 0x0500):; //

int ldriver (uintlé fword, uintlé sword)

{

SPIM 2 WriteTxData (fword):
CyDelayUs(6éu); // need 2.
SPIM 2 WriteTxData (sword);
CyDelayUs (6u); // need

iR

Correct zeroing of current.
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Bad display of zeroing current.
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First case first nibble of 1% byte gets swapped with 1% nibble of 2" byte, both sets.

Second case similar but in second set.

SPIM 2

SDAT SPI1 Master MAX CLK-50MHZ

PIN 64 [za}<———— sdat SCLK

P2(2) Pin64 sclk————«={=] PIN_51 P0O(3)
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SEM
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Top trace is SEN, followed by SCLK, then SDAT.



